SEANRBEYERNEENRBEERARBERES =%
FIEMIR—  FRIFMR _IBIER

£ = % KERRAPHEERZE  BEXERE ; BINFBEERILIETWE -

pyzR—
SEEAREVENEEYIEREERKRERE
BR | tigIEE EMF (B ME /1)
1 |DNA FEWIEQug) 50 7T
2 |3 FEWES 400 7o
3 |M& FEWEZ 200 7T
4 |FRR& FE@AS 100 7T
5 |MEBER FERAE 200 7T
6 | E5E 350 7T




PR

SEAREYENERUSESRERNEERE

—  LUERPHES -

I8 R BUERIERE

1 —REHEEBEER

2 —RESHEESEWAER

3 |—MSHEEBMRERREERER

4 |ERSEEHEER

9 —REHEZAMIKABSNRREIEER

10 |—BenEmEREEESFER

11 —mZHEBRREHEZESTER

12 —mRESHEZBRRB(EB D TER

t

13 |—RESBEREBZ=BERONE

\\

b

\

14 —mZHEZBBENEYEREITER

t

15 —mREHEZERRRENTER

\

t

16 —mRSHEELEEER

\

=HIEZ 10 7T

\t

17 —mRESHEBRHIKEE KER

=HI{E 2 100 7T

18 |—RESEEZESBEREER FHIEZ 50 7T
19 —RSHEZRNBERER BilfE 2= 50 7T




* DIEABUERNEPFESE :

JER HUBERIEHEH BEF(EN : = / 1)

1 —R2EEBE SERIRMRKEREHUERE BEUERE 50,000 7T

2 —mEHEEZERBEEHEHUERE BHUERIEE 20,000 7T

3 REEEZEREERFBUERNSE FEUERE 5,000 7T

4 —mSHEEZENEPE(RERHBUERSE BHUERE 3,000 7T

5 —EHEEANBRMKEENRD BEENUERSE BEUERIE 3,000 7T

6 [—RESHEEBERERBUERE BHUERIEE 30,000 7T

7 [—REEZBMRAHEBHUBERE BEUERE 3,000 7T

8 |[—REAEBRREBILHZEHUERE BHUERE 3,000 7

9O TREEBRR=_BARSEHUERSE BEUERE 3,000 7T
BRHUERE  OFXINTHEERE  AOPFHUEBHNERE - BHFE 5,000
T -

= BESeREREMEMBMUERERFE

I8R HUERNBEEER B (BfI:=5m)
1 |-R2BEBS SEMARNMRKREBEUERE [BEUERE US$2,000
2 |—REAEZERREEHHUENE BEUERIE US$2,000
3 REEEZERBEERFBUERE BEUERIEE US$500
4 |—REHEEZEREFELLRABUERNE FEUERIEE US$500
5 |—MREHEEFANFEAMKEBNRDEEHUEKIE BHUEREE US$500
6 |—MRSEBERBHMBEUERE BHUERE US$2,000




7 |—REABMRNEEEHUERE FEUE RIS US$500

\

8 |—MREAEBRRELCHZEHUERE BHUERE US$500
9 —REABRBR=_BDEARZEHNUERE FEUE RIS US$500

BHREAUERE 9FFINTHERE  A0PBFHUBREHRH  BHFFER
US$600 -




